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Math 8





      Simplifying Expressions Assignment
Part 1: Multiple Choice – Circle the correct answer choice. Show all work.
1)   Simplify the expression   -14x + 8x 

A)  
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                                           C) -6x 

B)  
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                                            D) 6x

2)   Simplify the expression   2 + 4x – 9 – 6x 

A)   
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                                        C) -2x – 7 

B)   
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                                      D) 2x + 7 

3)   Simplify the expression by using the distributive property:   
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4)   Simplify the expression  17 + 12x – 15x + 3x - 10 

A)    6x +17                                        C)    7 

B)    -17                                              D) - 7 
5)   Simplify the expression   -19ab – 14 + 11ab – 2 

A)   30ab + 16                                     C)   -30ab - 12

B)    -8ab - 16                                     D)   8ab + 16

6)   Which terms can you add together in the expression -2y + 4w + x + 9y – 14w 

A)    -14w and 4w; -2y and 9y             C)    -2 and 9; -14 and 4

B)    x and -2y                                     D) -14w and 4w

__________________________________________________________________________________________________
Part 2:  Extended response 
7) Simplify the following expression using the distributive property:      
[image: image10.png]4(10x + 6) — 10(9x + 9)




Answer    _________________________________
8)       Part A: 
          Simplify the following expression:   
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Answer     _________________________________

       Part B: 

          Evaluate your answer in Part A when a = -2 and b = 3

Answer     ______________________
9)       For the expression below, list the coefficients, variables, and constants.
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                                                              Coefficients       ______________________________________
                                                              Variables            ______________________________________ 
                                                              Constants           ______________________________________

10)       Part A: 

          Simplify the following expression: 
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Answer     _________________________________

          Part B: 

          On the lines below, explain how you used properties to simplify the      

          expression. Be specific.  
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